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IMPORTANT NOTES
\ECEl

{A) Please fill up the OMR Sheet of this Question-Answer Booklet properly before answering.
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(B) The question paper is divided into different unit and parts. The number of questions to be attempted and their
marks are indicated in each unit and parts.
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{C) Atlempl answers gither in Hindi or English, not in both. For Language Papers. answer in concerned language
and seript, unless directed otherwise to write in Hindi or English specifically.
Tv SRt ar fet o # el v o 2o, S F @ ) e e w3 9 Hes A g fer 3 A
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{D)  The candidates should not write the answers beyond the prescribed limit of words; failing this, marks will be deducted,
sreafigt =7 S ST TR e W | S R (e [ | S S H 9 3w e w |

{(E) Please write answers only in the prescribed space of booklet. Do not write any mark of identity inside the Answer
Seript (including Paper for rough work) i.e. name, address, telephone number, Name of God etc. or any irrelevant
words other than the answer of guestion. Such act will be treated as unfair means. The Commission may also
deduct 5 marks from the marks obtained, if Roll Number is not filled correetly on the O.M.R. Sheet.
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(F) Candidates are directed thal they should not write (answer) out side the border line in every page. Answer written
out side the border line will not be checked by the Examiner,
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A % AT A T SR S G G S AR S |

(G)  If there is any sort of ambiguity/mistake either of printing or factual nature then out of Hindi and English version
of the guestion, the English version will be treated as standard.
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{H) The Question-Answer Booklet is provided in a sealed envelope to the candidate. Candidate must sign the
declaration as per directions printed on the envelope and return it to the invigilator.
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(n Candidate should fll up all desired details on this attached OMR sheet of Question-Answer Booklet with blue
ball point pen. Please ensure that this OMR Sheet is not torn or damaged. ) |
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{J)  This OMR Sheet consists of Two paris, in which some information is pre-printed; remaining details have to be
filled by the candidate.
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(K} If the Question-Answer Booklet is torn or not printed properly, bring it to notice of invigilalor and change the
Question-Answer booklet, otherwise the candidate will be liable for that.
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Special Notes :

If there is any wrong information filled by the candidate or any attempt is made to damage it or any marking as identification

is done, then his candidature for the entire examination shall be rejected by the commission, for which he will be liable.
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(Unit-T) (Marks : 100)

b (31 : 100)

Part— A Marks : 20

T — 31 IF: 20

Note :  Attempt all questions. Each question carries two (2) marks.

ME: W B H | A e 9 (2) A

I. Statements :
Some pencils are erasers.
All pencils are sharpeners.
All erasers are not sharpeners.
Conclusions :
L. All erasers can be pencils.
II.  Some sharpeners are erasers.
Which conclusion is correct ?
Ha ;
FI UGT TWE |
=t tifeT AT & |
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In the following sequence,
number.

T Srshm o e e i & | 39 W& H I FiT |
1.2.4,7 28,93, 198, 205

there is a discrepancy in one of the numbers, Find that

3

Find the total number of squares in the following figure :
et fomr o ot =t e v sy i
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4. Find the odd one among the following
1 | & v ae W i
17,27, 37, 43, 67
3. Two trains running in opposite directions at 36 km/hr and 45 km/hr cross each other

in 20 seconds. Tf one is 200 metres long, then find the length of the other train.

=1 27 fadia foom # 36 km/hr U 45 kb W 20 T § Uh-gRY B U HL G E | afe
T £ 200 Hiew w , A g & B S v S |
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6. The ratio of two numbers
their least common factor.

3 HEH P I 3.4 * |aﬁwwwqaﬁm¢%,ﬁmmﬂqﬁwﬂ$m
it |

i8 3 : 4. If their greatest common factor is 4, then find out

7. Two dice are rolled simultaneously. Find the probability that the sum of the numbers
on them is not 8.

a1 T U ek S rﬁwmmmﬁmuﬁwaqﬁﬁﬁﬁﬂwﬁmmﬁfﬂq I

8. Define samp| ing frame.
TEAT qivaiee ifaw |
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9. In the following figure, O is centre of circle and ZAOC = 100°, Find the ratio
ZADC to ZABC.

FEafm s o m s d= @ 2A0C = 100° & | ZADC 9 ZABC %I 7 37
ST |

10.  For a moderately symmetric distribution, the difference between mode and median is

28. Find the difference between median and the mean of the distribution.

U AT A d2 % Agers 3 Wi B s g & | ¥9 27 % Wi 7 e w5
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Part—B Marks : 40
AT —F F 40

Note : Attempt all questions. Each question carries five (5) marks.
W Wl A ) g e & Ut (5) 3w ¥ |

|_] L. If you want to get the best treatment for heart diseases. vou must approach hospital
27— Pells Q.

Assumptions ;

[ Q may be heart patient,

[T Q generally listens to P.

I P may have enough informations about the hospital facilities.
Which assumptions are implicit ?
*ﬁhmmmwwwmwmﬁ&ﬁ?mmz%mm
ET — P Q Fi Ty |
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12. What do you mean by correlation coefficient ?

HEHA TV & ST T S & 0

13.  Find the value of the following :
=t = i s i

(36308 ()
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14. Ifa T bis coded as the remainder ( r) when a is divided by b, then find the value of
following :

‘ﬂﬁ'nTbﬁﬁ@[r}ﬁ@EﬁﬂTW%ﬁaﬁﬁhﬁWﬁﬁ% ﬁ?ﬁﬁﬂqﬁmﬁﬁﬁ:
[1001 T25+ 1002125+ .. + (1025 T 25)1 1 25

I5. In the given right angle triangle PRQ, RS is perpendicular to PQ. Find RS when
QR =5 units and RP = |2 units.

ﬁ&wﬁq‘aﬁwﬁﬂaPRQﬁRngFQqTﬁa% 1T QR =5 SHEFTRP = |2 TS B,
il RS % wars s s |

Q
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16.  On which compound interest rate, ¥ 25,600 will become # 62,500 in four vears 7
¥ 25,600 164 “Tehefles =1 T 70 W A AN F T 62,500 7 ST 2

Paper-11 13 ‘lﬂlll!“

wog 0T




of a school :

ﬁmwﬁﬁwﬁa%ﬂﬁm%ﬁmﬁﬁ%ﬁéﬁwﬁmﬁm%:

17. The following table gives the details of the sports liked by students of all the classes

Class | Number of Students | Cricket | Volleyball | Basketball | Football
T BT 1 W bz | aifem | ez | gear
8 120 60% 70% 50% 60%

9 140 50% 60% 60% 50%
10 160 40% 65% 55% 45%
1 180 65% 75% 65% 55%
12 240 70% 80% | 75% | 45%

In how many of the given classes can more than 90

students like all the four games ?
a1 &% P 5, gnﬁa?ﬁm@ﬁ?mﬁﬁrwéﬁﬁﬁﬁﬁﬁaﬁmﬁﬁﬁr%?
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Part-C
HMT-9
Note : Attempt any two of the following questions, Each question carries

ME: T d S B 2t ue e | S Y % & (20) EE |

Marks : 40
3% ; 40
twenty (20) marks.

—

19. All the six members of a lamily A, B, C, D. E and F are travelling

C. D is the daughter of A. F is the

T ARER & T B W AL B, C, D, E & F UHHTT 300 %7
Baﬁnmﬂﬁ%macmﬁr%lﬁ,cwqﬁ%ruaaﬁ
ﬁﬁﬂmiﬁfﬂr{:

()  How many male members are there in the family ?
TRER % Ty wEwEt # e et i o

Who is the mother of B ?

B =} AT # & 9

How many children does A have ?

AFTFm =i

How many brothers does D have 9

D & T o & 0

Identify the names of Females in

qﬁanﬁnfﬁmaﬁ%qmamﬁl

(i)

(1i1)

(iv)

(v) the family.

son of C but C is not mother of B. A and C are a married couple. E is the brother of
brother of B. Answer the following questions :

WwE | B,
T E I F,

together. B is the

C %1 9 # feg
BH 9EE | A
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20.

Six lectures A, B, C. D, E and F are to be organised in a span of seven days-from
Sunday to Saturday. Only one lecture on cach day in accordance with the fol lowing :
P ST A, B, C, D, ET F # §1 fe 3 oty F wfemm & wifvam q s fed
THE | HAATT U SARA Y ot v 2

(i) A should not be organised on Thursday.

A TR i s et e |

Pape " L
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(ii)  C should be organised immediately after F.
C. F % i a1 sAwiifer g arfes |
(iii) There should be a gap of two days between E and D.
E @ D % 5 8 3 57 %1 srerer gy e |
(iv) One day there will be no lecture (Friday is not that day), just before that day D
will be organised.
ﬁf‘ﬁaﬁéwaﬁﬁmmaﬁﬁ??ﬁé}. W B9 % e @ D =
& |
(v) B should be organised on Tuesday and should not be followed by D.
B & mmﬁwrﬁmaﬁmﬂ?mﬂnmmaﬁmm |
Answer the following questions -
P11 vt 1 3w St
(1) Which lectures are to bhe organised between C and D 2
C 3 D & Weg P ¥ =g s 2 §9
(2) Which lecture is to be organised on Saturday ?
AR %t 1 1 S st E o
(3)  On which day lecture C will be organised ?
S C 4 | fa amifor g o
(4)  On which day there will be no lecture ?
o o =t e i B o
(5)  Is the information complete to decide the days for various lectures ?

ﬁﬁqwﬁ%%yﬁ%ﬁwmw%%?
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21.  The details of expenditure of monthly income of a tamily is given in pic-chart.
Answer the following questions
fed e & U AR A A F @ B e fear mr & | = et e
iﬁﬁﬂ':

(1) If expenditure on cloth is T 2,000, then find the expenditure on *other items’.
AR HIE T =7 T 2,000 &, 7 " TR A T FifAw |

(2) What is the percentage of savings of total budget ?
T I 1 e vl wwa a0

(3) What is the total savings in a year ?
U =9 1 o7 a7 91 & 2

(4) How much percentage is more on expenditure of item education from rent ?
MWWWWW#WWW%?

(5)  What is the amount of expenditure on each item ?

mwwmﬂﬁaﬁaﬁmﬁrw%?
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22.  Solve the following :

=t =t 7o7 ifer

(1)

(2)

(3)

(4)

Find the perimeter of a right angle isosceles triangle with unit area.

YIS HAEC et U TR FAfTE S 1 qREm e e |

A Box contains five rupee coins, fifty paise coins and twenty five paise coing
in the proportion 5 : 6 : 8. If the value of total coins is ¥ 210, then find the
number of coins of each kind.

U S 5 1 T % e, T 4 % fr o oeft 4 % e s 6:8%
T HE | = 5 ot 1 90 210 v & Al Uei% Wk < foet 1w e
ife |

An Army General wants 1o make a solid square by his 36,562 soldiers. Afier

arranging, he found that some soldiers are left. Find the number of soldiers
who are lefi.

ﬁmwwwm%%aﬂ%mjﬁzwwmaﬁm | T B &
e 3 T o e s g | g2 BT AT H e e i |

Lo complete a work. A takes 50% more time than B. If together they take 18
days to complete the work, then how much time shall B take to do it
independently ?

U ®E B Pt A T AL B # 50% v o e & | 3 A e ey 3
F 18 e d i wm & A B 56 H F AT B0 F FH 7 ey Ty A o
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Note :

UNIT =11 (Marks : 100)

(@z-11) (3% : 100)
Part— A Marks : 20
T — 37 3HF: 20

Answer the following questions in 15 words each. Fach question carries 2 marks.

Frefafan st we %1 397 15-15 VI H T | UeT v 2 S S |

What is Cyber Warfare ? How is this technique used in war ?

Wﬂa%w%?wmmwa@ﬁ%ﬁﬁmw%?

2.

What are Quantum dots ? Write about their applications.

Fare foeg w0 & 0 S Sl & aw o R |
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3. What is Spring/Vernal Equinox ? How does it happen ?
STE/FIEA T (673 T % 2 7% 9 2 & 0

4. What is cloning ? Write about its plications.

Pl T € 2 T YA 5 A e |

J.  Why convex mirrors are used as rear view mirrors in vehicles 7

AT H TV ¥ 3] I SO I o e o B o

6.  Define isotopes. Give two examples.

Fapert » L

201




= N e

7. In which field Nobel prize was awarded to C.V. Raman and Hargovind Khurana »
w4, mmmmﬁﬁaﬁﬁﬁawﬁmW?

— . & — = e i YwETey

WWW%?WW%WW#

- ik
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10.

What is the size of nanoparticles ? [ist any two uses of these,

=T I 41 & 2 961 SUGTT & 41 Fameeor &

Paper-11
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Part-B Marks : 40

LU | HF : 40
Note : Answer the following questions in 50 words each. Each question carries 5 marks.
L

7 ot o = 3o 50 VR E | S U % S HFE |

=i
g

What are sources of Vitamin A 7 List

the diseases caused due (o deficiency of
Vitamin A.

ﬁzrhqa%aiﬁw%?ﬁaﬁwaaﬁﬁm}ﬁaﬁaﬁrﬁnﬁﬁ%mfaﬁ |

#2079 82«
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AT T BT & 2

12.  What is Vuleanization of Rubber ?
T & LY
I3.  What is aquaregia ?

Paper-11
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14.

What is Blood Pressure ? What is the normal range of blood pressure and which

instrument is used to measure it 7
mmwﬁm%?mmwmmwﬁﬁ%wmwmmm

T st & 0

gies that can be used for propagation and
using suitable examples.

TRt d3 5 R qgr e g

I5. What is Biodiversity ? Name the technolo
genome conservation in a given ecosystem
a1 fafesmr a7 & 9 ST IAEAVT Ted et feg R
% ford 3wt qet & e |

B2
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16. Describe the use of biosensors and biochips in information storage, medicine and
surgery.,

AT HHET, e q97 od | S HWelwl w97 wfa =it & 39Ei % avid w |

17. What are genetically modified crops ? Give suitable examples related to Indian
Agriculture and Horticulture.

I THEMT e 1 & 9 G HT 7o SR § T 3TE 39 § |
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18, Name the properties and uses of Perfluorocarbons (PFC)
AR (1.0 H.) & 07 o S9any & =i § o |

Paper-11 36 ’Il!llql!l
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Part—-C Marks : 40
qam-9 3T 40

Note : Answer any two questions in 200 words each. Each question carries 20 marks.

| e o & =t el (ue) # 3T 200 =T H T | WrEs 99 % 20 HF E |

19. Write an essay on the importance of narco-analysis. brain mapping and DNA
barcoding in Forensic Science. Mention their limitations.
fafir fosm o Al fayenm, o gafEg o7 TR0 aRee #t Hed W S Hay
ford | gl Hifoaanstl @ sooiE 1 |

revee - L
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20.  What arc non-conventional sources of energy ? Describe any two non-conventional
energy sources with special reference to Rajasthan.

1 & RO i B W E 0 T & e e o e o e st wet
T FU HE |
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21.  Give an account of the use of information technology in e-governance: e-commerce

and international diplomacy.
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22.  Use your creativity to develop a “vision document™ for improving forestry, animal
husbandry and information technology for Rajasthan,
mﬁwmwmmﬁmmﬂm RV T GO T+ 1 9 v
g (qre)” were famfe o |
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